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Instructions : - 1. Check the question paper for fairness of printing. If there is

any lack of fairness, inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline and pencil to

draw diagrams.
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Note: i) Answer all the questions.
ii) Choose the most suitable answer and write the code with

the corresponding answer.
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1. To project the rockets which of the following principles is / are required?
a) Newton’s third law of motion

b) Newton’s law of gravitation



c) Law of conservation of linear momentum

d) Bothaandc
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. Kilowatt hour is the unit of

a) resistivity b) conductivity

c) electrical energy d) electrical power
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element emits its radiation spontaneously

a) Ni b) Pd c) Pt d) U

STl FenFUITS SFHflwssmiIsmar Gauafluil(hib slmer CuDHM Hesfloid

<. Ni <. Pd @3). Pt m. U
. Which of the following is a triatomic molecule?
a) Glucose b) Helium

c) Carbon dioxide d) Hydrogen
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is an important metal to form amalgam

a) Ag b) Hg c) Mg d) Al
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9. Ag <. Hg 3. Mg . Al

. The component present in lesser amount, in a solution is called

a) Solute b) solvent c) Solution d) Colloid
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. A patient with blood group ‘O’ was injured in an accident and has blood loss. In
this condition the doctor should effectivelyuse _ blood group for
transfusion.

a) ‘O’ group b) ‘AB’ group

c) ‘A’ or ‘B’ group  d) All blood group
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8. Excessive consumption of alcohol leads to
a) Loss of memory b) Cirrhosis of liver

c) state of hallucination  d) Suppression of brain function
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9. is formed during anaerobic respiration

a) Carbohydrate b) Ethyl alcohol

c) Acetyl CoA d) Pyruvate
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10.Casparian strips are presentinthe __ of the root.
a) Cortex b) Pith c) Pericycle d) Endodermis
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11. The soft finely stratified sedimentary rock refers to
a) shale b) petroleum c) methane

d) coal
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12.All files are stored in the

a) Folder b) box C) paint d) scanner
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Note :-  Answer any seven questions (Q.No : 22 is compulsory) (7x2 =14)
GOy - aemaGuenid 7 aflerTddsendsa alleoL_welldsea).

(afleorm etevor : 22 6@ S L_mwiors LIFlVerldEeaiD).

13. State Newton’s second law
wluyl L_esfledT @)rewrL_mid ellgluilewerr g mis.
14.What are the causes of ‘Myopia’?

SILLLUTTene GeDUTL 1gMHESTET ST TSN HH FnM)l.



15.What is the minimum distance needed for an echo?
61516 TTedld &g ChemeuTer &HewDbHHLL Fd GlHTemeV6y 6T6IT6I ?
16. Why does the rate of a reaction increase while raising the temperature?
QeuliL Blewevsww 9P &ifdhEGh Curg aflswerullsst Gousid 9B %iMbSna). er6or?
17.Differentiate soaps and detergents
Gariiy wHm) 19 TOxewT ewL CoumiLi(Hdsid.
18. Write the dental formula of rabbit
LPpwedl&dT LI6D eumIILITL 1g 696dT 6T(LPSKHI5.
19.What is Bolting? How can it be induced artificially?
‘GUITeVIg MBI’ 6TETMT6V 6TEITEIT ! | HEWEIT 6TeleUTM| ClFWINENSEWITSH 2a1d5 & 660D ?

20. Identify the parts A,B,C,& D

Q&sr@Hsasiul_(herer uLgglev A,B,C wpmib D oy&lw ursnigsener oswL_wrerid

HTEST6YLD.




21.How can you determine the age of fossils?
Leng o ullit) Lig eukiseaflsT STeV5ens sTeuaITm) 6wt s0min?

22.A charge of 10 coulomb flows through a bulb in 5 second. What is the current
through the bulb?
10 gaiid Wlsstenmi L _1b S aflpmg CHrib sp(h Lledr aflerds et surflwmrss LTSNS
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Note . Answer any seven questions (Q.No : 32 is compulsory) (7x4 =28)

&Py semauGuienid 7 aflarTdsendsa allew_wefdsayn (aflarm ster : 32 &@E,

&L Twioms Lgleverldseayid).

23. State and prove the law of conservation of linear momentum
2 hg rmurl Hd CarTienL Tl ewL gnn)] Hewerr GliliLildhs

24.1) Draw a ray diagram to show the image formed by a convex lens when the
object is placed between F and 2F.

ii) Define one calorie.
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ii) sp(p Gevri] suswIwIm).

i) How many electrons are passing per second in a circuit in which there is a
current of 5A?

i) Mention two cases in which there is no Doppler effect in sound

i) 5 opNwi esrGermi_L b Lruyb sp(h WlsdTHMH ML sp(h ailewrmiy CBHIddlsL LITuyb
6T6VG L _[TT63T&H6IT163T 6T630T6us11d5 60 6W I & 6501 35 (h) .

ii) Lrdeni eflsere peoL_CLD WiuITS FTeT(H) GPOBMET 5o IS .

Derive the relationship between relative molecular mass and vapour density.
LI CLPEVGIn M) BlewMdHGHL el L THHE @G 2 _sTar G\HTLLilewer aumall.
How is metal corrosion prevented?

2 Gevrs Y fTaTsems &BH\d G (pewmaiemer alleuf].

With a neat labelled diagram explain the structure of a neuron.

pluyrreflst gjepilieond 5&bs LL-SgiL e ailau.

a) Read the following content and answer the questions below.

Pure — bred tall Pea plants are first crossed with pure — bred dwarf pea
plants. The pea plants obtained in F1 generation are then cross — bred to produce
F2 generation of pea plant.

i) What do the plants of F1generation look like?

i) What is the ratio of tall plants to dwarf plants in F2 generation?



iii) Which type of plants were missing in F4 generation but reappeared in F>
generation?
b) Why is the sino - atrial node called the pacemaker of heart?
9)) QEsrHssLILl L uGHeow LySg $CY QETHSSLILL L aflesTTdSEhd G
aflewL_wiefl&pHeyLb.
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30. Differentiate the following
i) Monocot root and Dicot root
if) Aerobic and Anaerobic respiration.
Coumiur® &ms.
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31.(i) What precautions can be taken for preventing heart disease?
(i) Name two maize hybrids rich in amino acid lysine.
). @sw Crriisst ssHLBoUMSHSH &BHEHSH CHEGTTERLD (LpedT6lardFildhens
BLQUIGEDEHMENE Fn )]
ii). emevdletr OIGesrm yflevid ClFMlbs @) et wHeTECFTer HevLiLjuili]
UGN B S 66T CILILIEHT 6T(LSIS.
32.(i) Write the features of Nuclear fission and Nuclear fusion.
(i) Calculate the pH of 0.01M HNO3?
(i). S)gmIsam Llare) wHMID aIsHsH G)ewTallsT HETmHDET 6T(1LSHI%.

(ii). 0.01M HNO3 sewraedlssr pH waliiy sresrs.

Part - IV
uggl — IV (3x7 =21)
Note 1 - 1. Answer all the questions.

2. Each question carries seven marks.

3. Draw diagram wherever necessary.

@mliy - 1. |ewardg allearTdsEns @l afleweflssea)ib.
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33. (a) (i) State Boyle’s law
(ii) Explain the experiment of measuring the real and apparent expansion of a
liquid with a neat diagram.
(i) urullsv aNFedpwd gn M.
(i) Slreug et 2_aisremio Qeuli afilifley wHMIb CHTHM Geutir ailflailsnesr
erallpo CoFrsemearemw Ggeafleurer LL GgIL 6T aileur.

(OR)

(b) (i) A source of sound is moving with a velocity of 50ms-! towards a stationary
listener. The listener measures the frequency of the source as 1000Hz. What will
be the apparent frequency of the source when it is moving away from the listener
after crossing him? (Velocity of sound in the medium is 330 ms-1)
(i) Calculate the velocity of a moving body of mass 5kg whose linear momentum
is 2kg ms-.
i) s 6260 cpsviomesrg S0 el FewaGousddlev giiley Blemsvulled 2 srem
Caslgpewr Chred pbasHmAmagl. CHLGHBImev 2 eyt 6l cLpsvddlesr
9 FirQeusientresrg 1000 Hz oy @0, oibs 60 cpevinmreng) spliley Blemsvuilsd

2 _sirer GaLlgpeny el allevdlF GlFsve b Gumgl 2 ewrrliL@n ChrmHm

9Bl Gleuswr sresrenr? (spedluflesr FlewFGeusip 330 hall-1).
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34. (a) i) Calculate the mass of 1.51x1023 molecule of H20.

ii) Calculate the moles of 46g sodium

i) Calculate the number of molecules present in the 36g water.

9 1) 1.51%102 eppevdsgnmy Biflesr (H20) plewmewwis & revsrs.

ii) 46 &) GarigwGslesr GLoT6VSHEW6TE: &T 6.

i) 36 & BifleL 2_6irar cLpeVSIn M)IS66IT 6T63T6NTdeMBEMUI T VT .

(OR)

b) Write notes on various factors affecting solubility.

HOTSMEWSTLI LITHE G LVCBeum| srrewflssnearts LHm! @Gplliy euenrs.
35.a) i) Why are thyroid hormones referred as personality hormones?

ii) Define triple fusion

iii) Enumerate the importance of forest.

9).1) ewarmii® anTiGLoTeiTaer 676iT ‘9w DT GLoT6iTH6T 6TETM)
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ii) ‘epallsmenta)’ - arwrwim
i) sr@sefer whalwdbgieud uHD) & mis.
(OR)
b) i) List out any three parasitic adaptations of leech

ii) Natural selection is a driving force for evolution. How?
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